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30190000 Gpuwubb. wypubipbbp b ynpkp, We 200000
30199100  |@nip pnpiwn A4 PCUZ huun 2500 19 47500
22852000 Ernpungurinul PCUZ hwwn 200 40 8000
22852000 Upwquljup PCUZ hunn 1000 10 10000
30182000 pubinb PCUZ hunn 200 18 3600
22820000 Hdwpiwl hwhdlwpupughp RCUZ hunn 50 150 6000
24910000 unufibd FCUZ huwnn 300 20 6000
30187100 Sphs gnhlunnp FCUZ hwn 150 40 6000
30141210 Zuipyhy FCUZ hunn 4000 1 4000
30192130 Udunnfun FCUZ hunn 200 10 4000
24910000 unuhlid PCUZ hunn 300 20 6000
22852000 pugbpny prpwupwinel FCUZ hwwn 2000 4 8000
28150000 wnkwnp pughwbnp PLUZ hwin 200 30 6000
30197100 [Ywphy PCULZ POUZ 1000 4 4000
30192125 dwpykp PCUZ hun 300 5 1500
30192133 |ulny PLUZ hwn 350 10 3500
22852000 g kp PCU2 hunn 1500 2 3000
30192130 gniinp poup PCUZ hwwn 150 30 4500
30192130 gnibiunnp dwnn PLUZ huwnn 350 4 1400
22815000 wbinp unynpuiljub PCUZ hwwn 50 40 2000
22815001 uuphdhlughwbbp BCUZ hunn 1000 3 3000
22815001 wowljbpnlibph swpdh dwwnpubibkp POUZ hunn 1500 3 4500
28150000 Yunthg FOUZ g 1000 20 20000
37822300 gruukbjulught waypupbbp b pupngulpuh o pnpl) PCUZ hwwn 34200
30182121 |%nthy gmbuwnp RCUZ hunn 550 6 3300
Ebgunuhl Wb buwluty wypubplbp b bngpkp 350000
39831600 b quniy £OUZ hutn 200 15 3000




39831600 b quniy FCU2 hwin 250 10 2500
39831600 [b qunfy £oUZ hwwn 150 50 7RG
44163100 Uil PCUZ huwwn 1000 13 13000
38224100 bElwnpng FCULZ hwwn 70 100 7000
31711140 |Utju PCU2 g 1000 3 3000
39831278 whdknnghly PCUZ hwwn 350 15 5250
44521100  |nurpupw FCUZ Fiiii 350 10 3500
31521000 2nigupwbih b jJwguwpwbh junguitnul | FCUZ huuin 1500 4 6000
- [ 5
33761000 |tnbwnwguwl shmip | PR g 2000 5 10000
31224100 m—.mhhh t\knhng i eCU2 hunn 350 30 10500
18141000 |iryynhiyn PCUZ g 1000 130 130000
30812100 |ogun Abnph FoUZ hwn 200 50 10000
39831276 2unnwly dwppkynt ynup PCUL hun 1500 4 6000
39831273 Uwyntlg PCULZ huwn 500 24 12000
39831276 |Uhiwlbging hkgml ROUL hwwn 350 49 17150
39831600 Lywgph thnsh .‘..Ul_]_h.. PCUZ hwwn 600 20 12000
39251000 UuL[LLlLl’llb]‘lh quJhul]_Ill I]Ll]_llLi{ | POUZ hwn 600 30 18000
39831600 Twunthwh plwbuyn kgl | PLOU2 hunn 100 10 10000
38831600 ljwpphn FCUZ [1q 1500 10 15000
398112100 gnigupwbh poupe POUZ hwwn 150 60 9000
44511100 puth PLUZ huwin 2500 3 7500
3376100 witfwb pJwgnn dwdnely FCUZ huwin 550 10 5500
31521000 wwwnh b hunwhh fnquitnuly FCU2 hunn 1200 6 7200
39831600 |dwlly POUZ hunn 400 10 4000
Juiprpuly PLU2 huwin 700 22 15400
Uy dwhuubkp We FLUL 233500
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65310000 l:‘utl‘lqhm[l[{ bmnuqnl{.rjl'nh‘.lhp FOLLZ Yqs 49 300000
65310000 Suq) dwwnwlupupnud FLUZ Jud 156 1800000
Uwubwghinwljwl Swnwgnipmbikp (qugh
77100000 wku uupuuwplynod) 2, npunl 4 12 130000
64112000 [Ywwh dwnunnipinth reuz il 12 80000
84211200 |Pulljuyhl dwnwymminl rouz npud 0.40% 12 20000
66110000 Plunbplitun Juagh Swnungmipmih PRU2 npud 10000 12 80000
32412110 |2wnfwlpapgsunhli busmayngnod rruz npund 100000 ? 100000
4
50320000 Nwwndbhwhwing. hgpunjapimd i npwiy 25000 50000
30125110 SEpkiunnjwlpuh Swnwympnd UL, il 10000 ki 100000
30125110 phpph pudwlinpugnnysgn 26000
==ghnuuluw wohup 26000
s<yrEnbean 1>>
<<gnp>> wiluiwg)q F 48000
22200000 Zwunwpupnip.anknungpnul { Z i 5000 12 60000
92420000 npnkhunhb wiefi il dutnunnupn LR npwd 30000 2 60000
78995100 bk, uninpugn Ehlig b roz npwiy 3000 1 3000
79132100 qnpsnunud W2 npund 14000 10 140000
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